Supplementary Figure 16: Partitioning of heritability by functional category. This figure is a
companion to Figure 6 of the main text. The figure shows the proportion of IDPs in each of
the 23 IDP groupings (x-axis) that show a nominal depletion p-value < 0.05 for the 24
functional categories (y-axis). The total number of such IDPs for each category is given on
the right hand edge of the plot. The number of IDPs in each IDP group is listed in brackets in
the x-axis labels. The proportion of the genome annotated by each functional category is
listed in brackets in the y-axis labels.
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